55.

1

132. Volume of a hollow sphere is

Mensuration 3D : Volume 2011-2019 Compilation

11352 cm®. If the outer radius is 8 cm, find the inner

radius of the sphere

'{A;p 6 cm | v{scm

(C) 7cm | (D) Scm

11352

@m eaefLpp Ceragden sar ey &0leb. LHmD igen Geuafl b 8 Gab. erafld

DiECararzen o a1 sy y5m5e anins.
&) 6Qas . (B 5Qs8
© 7asd o | D) 8asd -

A rectangular sheet of metal foil with dimension 66 cm x 12 cm is rolled to form a
cylinder of height 12 cm. Find the volume of the cylinder.

(4) 2772 cm® @), 5148 cm’®

(C) 4185 cm® ) 4158 cm®

66 Q&.8. x 12 Q&.5. argyd jereys Qarawr @ 2 Canasd o igmar 12 Qg.5. 2 wyaperer
@ 2-(HEETLITE HMETTE L@ 2 (HMETUNET HET (6T6 &TERTs '

(A) 2772 5.Qs.15. (B) 5148 5.Q&.15.
(C) 4185 5.Qs.18. (D) 4158 5.Qs.15.
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48.

A cone of height 24 ¢cm is made ui) of modeling clay. A child reshapes it in the form
of a cylinder of same radius as cone. Find the height of a cylinder |

A) 42em _ (B). 48cm -

\_Ms(:m .- D) 20em

sewanGeram(d Qewniin - 24 cm ng@psirm (% &mmu'@@ BRHES cﬂg{(ﬁg <L T(LPETET
GRIf a@mmmna; rHmdns aefd a@muﬁldn 2 WYID SNEENE.
B)  42Gs8 . ~ (B) 480

(C) 8GQss - (D) 21 Qs.8

A cubical tank can hold 27,000 litres of water. Find the dimension of its side
Al 27m (B) 1000 m
d! 3m ' (D) 9m '

@ sanésg) ey HisAgm g ufer Q&n&iwmﬁreq 27,000 SlL_Lit erafléd DSEN LSS B|eTenreud
SIT6HT, _

(a) 278 | (B) 10008

(C) 315 D) 98

A cylindrical shaped well of depth 20 m and diameter 14 m is dug. The dug out soil
is evenly spread to form a cuboid-platform with base dimension 20 m X 14 m. Find
the height of the platform.

11m B) 22m
(€) 77m (D) 33m

14 5 S L 1b wpmid 20 15 gy paperer e Havm 2 Hener auigeliler Qaul L ILRADG). eueummy
Qeau @ Curg CareawmgQuBssiiulL wear FHms urtuiul @ 20 8 x 14 S ereysefled
SlgLILEHLTEE QaTearr . e CaLwins emwssiul LT, GweL uler 2 wrb srems.
A 1148 B) 225

© 778 (D) 338






8
91. Find the volume of a cube whose side 5 cm

(A) 100 cm3 (B) 110 cm3
% 125 cm3 (D) 105 cm3

5 Q&.15 uss jeTey QETERTL SXTEF F5ITHH T SN DETE| SHTEBT
(A) 1005 Qs.i8 B) 110 5. Gs.i5
(C) 125s5.Qs.8 D) 105s. Q&8

‘9. A building is in the form of a hollow hemisphere of outer radius 100 m and thickness of wa]l
ig 1 m, If cost of painting 1 sq.m. iz Rs. 5 then total cost of pamtmg both the outer and inner
walls of the bluld'mg is (Take r=22 =)

Ay TRs. 1,265,000 @ . (B) Rs. 2,56,000

(©) . Rs. 516,126 ' o Rs. 6,22,317

@5 & LD HenaGarer cug.eflé e ameng. Deueflym b 100 8. sauiflen Biyinan 1 . ep amy Sl
 GeU(HE SuTeTD WE b Glgoa) mp. S aafle, errg;g o LD toDpib qua‘ﬂqm FEUTHEHET QUITERTLD | L&

10

it Gonss Qewa (7 =22)

(&) " Rs. 1,25,000 , (B Rs. 256,000

(C)  Rs. 5,16,126 . (D) Ra 622,317
The volume of the hemi sphere is 1152 7 em® then the curved surface area of the hemi
sphere is ;
(A) 242 rcm® ' (B) 208 xcm®
(CJ 288 rem? (D) 338 xcm?

g SengCanangdlen sansiena) 1152 7 cm® arefléd SiFen euenanhs Leuefluglber uyluarey
(A) 242 7 em? ‘ (B) 208 7ecm?
(C) 288 7em* (D) 338 7cm?



32.

12
34.

13
35.

The ratic of heights of two i:}'linders of equal volumes 1s 1 : 3 then the ratic of their radii will
be

{A) 4:43 B ® 3:243
© 2:48 o3 V3 |
@I]I'ﬂﬁ'l@l ﬂ_@énmé.aﬂs'u'r 8D sm@a‘rm 2 ¢ren e wriisaitar el dlsb 1 : 3 erafler &igen g riisaficn el fsn
erésten? | | | ‘ .
(&) "4:43 | | @) 3943
(C}f 2: ~."§ | M 3:43

The sﬁﬁ) of the length, breadth and de.pth of a cuboid is 19 cm and its diagﬂnall is 51’5 cm. kts
total surface area is _ '

(A) . 361lcm? | (B) 125 em?

c;/ 236 cm? - (D) 486em? |

G Gl Qmeuasgpﬂm Bemib, eysmanb m;pg;uw <B4 LDtD %aﬂu_leum!ﬂm &.G&g;m 19 G&.5. Gugub g
gpane Gﬁh_l_gglm fﬁ-mm 545 Qa8 creficd sigen Ellomgsl Lpay ereanug)

{A) 361 Qs o (B) 125 G&.Lﬁz

© 236QsBz | (D) 486 Geuf?

. The ratio of volumes of two cubes is 8 : 1 then the ratio of its sides is

(4 8:1 - - (B) 242 :1
(CV' 2:1 o _(D}' 64:1
t @rean® e sgEiseficr ser oenehlan sliflsmsdt apapGu 8 : 1 aafld élg,ﬂﬂ Li&5 amma;aﬂ&r
flssnss Sy ‘
@) 8:1 | ® 243 :1

© 2:1 | (D) 64:1
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B2.

15
89.

16
32.

The total surface area of & sphere is 144 7 ¢m?, the volume of this sphere {in cm?) is
(A) 144 = (B) 72 x
S 288 » Dy 576 #

g Ceramsden uoOuTly = 144 7 cm?aafld, g s Siemey (in cm?) 6@ erenan?

(A) ld4 7 ' By 72 nx

(C) 288« ' D 576 nr

The volume of a cuhé is 216 x cu.(;m. If the base ra\_dius is 9 Cl'J:_l.-Fiﬁd the height of the cane
(A) | Tem . | RS 8 cm |
(C)y 6cm . (DY BHem

a@m GEi en.l'l;.l_.és setbrSlen man sine 216 7 5Qe.8. =& subllar b 9 Qe.b. cralld, sigen
nggmgg J— o

@ 7@sb . ® 8@es. .. o
© 6asb S ) 6GQs.5.

If the volumes of two cones are in the ratio 1:4 and their diameters are in the ratio 4:5 then
the ratio of their heights is

A 1:5 B) 5:4

(© 5:16 | & 25:64

@ smbyseilen sar ereysaflear s 1 : 4 wHmb Seupdler il Luseaflar aldlsw 4 : 5 aefle
Seupdler 2 wipkisailen 6N eree?

A 1:5 . B) 5:4

(Cy :.5:16 D) 25:64
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87.

The volume of the cube is 729 cm3. What is the length of the diagonal

(A), .92 cm
M 943 cm
(C) 18 cm

M) 183 em

R s 55/ yHHen san iena) 729 Qa8 aafler sipen ap@ei LD aéJ@mm
@) 92 Qo8

(B) 93 Q&8

©  18Qsib

D) 183 Q.18

A cone is 8.4 cm high and the radius of its base is 2.1 cm. It is melted and recast into a

sphere. Find the radius of the sphere

(A) 24cm M 2.1 cm

C) 22cm (D) 2.3cm

@@ sawlben Sguussslar b 2.1 G&.B. 2wrb 8.4 Gel. g 2 m&sLULB G Carernons
aumidsuulLre Garergdlen 2y,7ib eremen?
A) 24Qs8 - (B) 2.1Qs

(C) 22Qsd8 (D) 2.3Qsd



19

128%. The surface areas of two spheres are in the ratio 9 : 25. Then théir volumes are in the ratio
(A) 27:75 |
% 27 : 125
(C) 81:625

(D) 729 : 15625

@ Careriusafler quuuqﬁxummadw 9 : 25 erap efilflgsHed o areng). seundlen ser 2jera safler

ez

A 27:75
(B) 27:125
(C) 81:625

(D) 729: 15625
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22
2.

If radius of one sphere is half of radius of another sphere then their volumes are in the ratio
A 1:2 ® 2:1 |

& 18 - D 8:1

@@ Carengdlen yroreang wp@pmm CarersSar oursde LTH aafld ieunb e sen S{6Te a6
: aﬁlﬁg,mﬁsﬂ@' ' | _

A 1:2 | B 2:1

(C) 1:8 ' D) 8:1
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57.  The total surface area and curved surface area of the right circular cylinder of radius 7 em

and height 20 cm are
Total surface area = 1188 ecm?, Curved surface area = 880 cm?

(B)  Total surface area = 1818 cm?, Curved surface area = 830 cm?
(C)  Total surface area = 1188 cm?, Curved surface area = 830 cm?
(D)  Total surface area = 1881 c¢cm?, Curved surface area = 880 cm? |

@ Hewo Criraul L o (meverudler %m& 7 Q& wHmL 2 WD 20 Qad erafiev sigean @Lnrrg,g, urliueney
LOMHMILD CUEHEITLIFLILIGTEU TGS

(A) Qurgs ugiy= 1188 5.Q@s.5, :auamrrulmu = 880 #.0&.8
(B)  Quwrgs uriy = 1818 5.Q48, euemaruriiy = 830 s Q&
(C)  Qursguriy= 1188 5 Qs&8, eumerupliy = 830 ¢.Qa18
(D)  Quorss uroy = 1881 5088, euenerurLy = 880 &.Q&8

4
58. If the diameter of a sphere is 6 m, its hemisphere will have a volume of

M 187 (B) 367

© 72z (D) 827
6 15 el _Ltb QarawrL ep(m Carargdlen, Sianr&Csmer ser amm &IT T
A 187 B) 367

(C) 72 = D) 82«

25



26

27
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50.  The surface area of a cube is 384 cm®. Find its volume
M 512 cm3 (B) 412 cm3
(C) 346 cm3 - (D) 343 cm3

sansgrsder uriy 384 cm® erafléd) igen sarsieney eTaman? -

. (A)  512cm® o (B) 412 cm?
(C) 346 cm? ' (D) 343 cm3

30



20.

32
74.

33

171.

A balloon in the shape of a sphere has volume V and surface area S. If the balloon is blown

up so as to have a volume of 8 V without changing the spherical shape. What is the new
surfac_e area?

(A) 8S a(4s
: M S

© 28

Gamar euigelleh 2 aer Lgyen sar arey V, Qeuaflym ugliuere) S 2 e wg ugnemer CaHTeT GulgeuLd
wrmmod 8 V s 2iareyss eadlenma Lyg) eugefler Geuaflym upliuere, eremen?

A 88 B) 48
© 28 (D) S

A circus tent is to be erected in the form of a cone surmounted on a cylinder. The tota_l
height of the tent is 49 m diameter of the base is 42 m and height of the cylinder is 21 m.

Find the cost of canvas needed to make the tent, if the cost of convas is T 12.50/m?

A) T 63552 (B) ¥ 65352

M T 63525 (D) T 65532

R STEHSHE a'au;qu)rran@ o meverufen 5g saby Qemenhg cuigedldd DebBGeTeng). FaLmrsHen
Qurgs 2 winb 49 8 sigen Sigliusasdlen edlLib 42 8. 2 meveriiunsgen 2 wirbd 21 5 Gogb 1 &8

Assran gealen eI 12.50 aafldd smLmb JowsEss Csmeauwnar Hisren gesfulen
eflemaamwus srams

(A) T 63552 ~ ®B) % 65352
©) % 63525 D) % 65532

Using clay, a student made a right circular cone of height 48 cm and base radius 12 cm.

Another student reshapes it in the form of sphere. Find the radius of the sphere.

M 12 cm (B) 15c¢m

(C) 9cm (D) 14 cm

seflwamenary uwetuBddH @ wrameuar 48 Qe 2 wrepd 12 Qs g yapn Qameam. CrT eul L
Samnd smbeus Qewsnr. S&ambeu wLHEADTH wrereulT @ SHemos Carearons wrHBle.
Sicueurm wrHpuuCL yiw CararsHen o75m56 Snaws.

(A) 12 cm (B) 15em

(C) 9cm (D) 14cem
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172. The radius of a spherical balloon increases from 3 cm to 9 cm as air 1s being pumped into it.

Find the ratio of volumes of the balloon in the two cases.

A 1:3 B 19

{J 1:27 D) 1:8

3 Q.8 gy QarawL Camer euig6u u@ﬁaﬂd) srHm QeFsILBL Curg s b 9 Q& s,
<idafgsne, scueiim Hoasaid ugnaier sar saraysaflen aldssmas srams.
A 1:3 @ 1:9
© 1: 27 D) 1:8
35 ' _
-137. The diagonal of a cube is 443 m. Find the volume

\(f 64 m3

(B) 48 m?3
© 12m?
D) 4.92 m?

R HAEFHTHSH N epenevesiLL LD 443 BU Lt erafléd SDISET FHE S| ETE CTCIET?

(A) 6483
(15) 48183 g g
© 1288
D) 4.92 &8
36
d.

A cylindrical iron pillar 49 ¢cms high and 6 cms in radius is surmounted by a cone 14 cms
high. The volume of pillar is

(A) 5981 cm? a!( 6072 cm?

(C) 7012 cm? (D) 8154 cm?

R Qburere 2 moear aigel gamar CLOUDLD sl @)eahaeians). o_(memerud e o Wb
49 @#..5, <u7b 6 Ge.18, Cogid gabiGen 2 wiph 14 Qs.8 erafled gnenflen sar <iemey wing?
A) 5981 Qe (B) 6072 Qa5

(C) 7012 Qs.5° (D) 8154 Qs
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12.

38
57.

39

31.

A cone, a hemisphere and a cylinder stand on equal bases and have the same height. Then
the ratio of their volumes is

(A) 2:3:4 : \MI:Z:S
(C) 3:4:5 ) Dy 13254

50 DQUISLD WLHMD &0 2 WID QST Falbl, HN@TECETETD WHNL 2 Mmeer y&weupdler,

SHE S| GTE & a6 aﬂéﬂéth cTemLIg)

A 2:3:4 B Y:2:3

©C 3:4:5 D) 1:2:4

If the volume of the solid sphere 7241%, cubic em., find its radius.

(A)  13cm : (B) 10cm

(C) 1lcm | \V 12 cm

am o Carengdlen ser sjarey 7241+ 5.08.8 erefldd ois61 LI585 STaRTs.

(A) 13 Qs.8 ' (B) 10 Qs.8
(€) 11Qe.8 (D) 12 Qe.d

The radius of a circular cylinder is the same as that of a sphere. There volumes are equal.
The height of the cylinder is

\{ % times its radius (B) % times its radius

(C) equal toits radius ' (D) equal to its diameter

&m CoieulL 2 (panemuliesr b, 2Ly Gamarddlen r58HE swb, GCoEd Ameusaien se
Sjereyser swb erafléey Crreul L o (maneruiler 2. wiyb wrg?

A) g— LDL_TBI(G DHSET < TLD (B) —i— LOL_MBI(Z; <DIF60 LD

(©) s Sr5HHE S D)  sipen ALLEHDES s0d
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82.

41
173.

42

If the surface areas of two spheres are in the ratio of 4:25 then the ratio of their volume is

(A)  4:25 (B) 254

C) 1258 | G 8125

@ Carariuseien Lliy 698w 4:25 erafled, Sigen sa1 SieTe il FD
(A)  4:25 B) 254
(C) 1258 (D) 8:125

The surface areas of two spheres are in the ratio of 9 : 25. Then their volumes are in the

ratio is

(A)  81:625
w 27:12%
(C) 729 : 15625

M 27:75

Biven @ Coramuseafian suanamigliyseflien afldsn 9 : 25 crafle saupiler sarsareysaficn flEls 0
(A) 81:825

(By 27:125

(©) 729:15625

Dy 27:75
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44



178. A circus tent is cylindrical to a height of 3 m and conical above it. If the base radius 1s 52.5 m

and slant height of the cone is 53 m, find the area of canvas required to make the tent.
A) 315 7m?2 |

M3097 .5 7rm?
©) 2782.5 7 m?

(D) 2997.5 rm?

(1 &T&EE em;mﬂorreagu 3 5 2 wpgperen z@%omuﬁlsbr Bg) eaby Sienopgnm Curem culgeusSeemerns).
DG DiigLILGS D 52.5 1B, emb@shgrruu.:mb 53 B ererfled, iéemLyb enndas CoHeneuwnet Slgsgme
gianflullelr LPUienus saTES(HS. | |

(A) © 315 7 2

(B) 3097.5 7.5

(C) 2782.5 752

D) 2997.5 75 -

46
115. Find the volume of a cyclinder whose height is 3.5 m and diameter of base is 4 meters

B) 22

A) 33
‘ﬁ 44 (D) 55

@ 2 (hevarudlen 2 wiyib 3.5 m, el 1b 4 m erafé 2 meneruler sen 2jerey SreTs
(a) 33 (B) 22
©) 44 (D) 55
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48
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5o __
173.  The volume of acylinder is 81em®. What i 1s the volume of the cone that has the same radms )
and helght as the cyllnder"

| \JA)/ 27 cm® | T B 243cm?

© 8lem® . (D) 162em® -

(1 a_@mmuﬂm s leta) 81 Q5.8 «:E#lﬂ')g; g@mem;mu_lu Gurrsm@;n < TApLDd &U.IIJ’(BDLD Q&rrsmm_
EIDINGT SEET 2|66 Grena?

A)  27Qsd : . (B) 243Qs.8
© 81Gss T D 16268
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52 : .
100. If a right circular cylinder and a right circular cone have the same radius and same height
then the ratio of volume of cylinder to. volume of cone is

W 31
B 13

©)
D)

12

|

T

o Cpieu L Cararsfh@bd, @ c‘[b_l’rﬂ.lll_l._ &b @Cr g, @G 2 wiyb ereénpre G&nmﬁ,ﬁs&l
&N SieTYEELD sudGen saT SieTeyEGD Qe Gut o arer el HD '

(A 31

(B) 13
1

©) 3° 2

® 1:z



53 '
168. The radius and.the slant helght of a cone are reapectwely ‘r and T. What is the volume of

the cone?

S el

(B) %xfm

© nrl - I ‘ .
O wrl+r) | -

(T SatDLSEN HLTLb W HmID ayumu@ apenp G r’ m,lj}gfn ‘v &dﬂa‘n B DL GiT Heple ma.i eTenen?

A) %mﬂ\fﬁ 2 --
B) %;n?\(' I+t

© nrl
M xr(l+r)

54 .
'20.  Ais acube ofside x, B is a sphere of radms x. The ratlo of volume of A to volume of B is

Ma in . ® 37:4
(C) dr:3 o ,' M) 4:37 |
' Acrmug X Siarey LS 2_GTaT EQEFITLD. Bsrarugj x’ ergib %um Qi G&rrmm A-@an sart

ok

SIETE HGLD B- @ww aarsqa;@m EenL G 2 drer eﬁ]é],sua

'(C)'4':r:3 K ' . D) 4:37



55.

- 68, The vollllme of thé largest c1rcular cone that can be cut of cube whose edge is 14cmis |
O nseTemt |
(B) 71876 cm®
©) 781 67 cma
® 73176cms o _
14 Gs. S L&s, .glarsqsar Glaarrm'l_ 9@ &an sgwgﬂm Q@;ﬁg Geuuq. cr@.s&.uu@m uS]aa Guiflu au.o&m
m .;9;9:194 _. ' ' ' '
(A) 718.67cm3
 (B) 171876 cm‘f"-' -'
(C)  1781.67 cm?
©) 78176 cmd

56

55. A cuboid box has the square base of side a cm and height b cm then volume of the box isggy
A a*?em® - B) ab’cm® | .
_ w2h2
W  a’bem? . ' _ (1)) aab em?®

ser Qecuausy Quiy géugﬁl&r SIpUUESD FHTOIGED SiFsgTFHan ussD a Qs.b yeapd
QU guSlen 2 wimd b Q#.15. Bpse D @EHUNIEN BiFET ST DIETE ' '
(A) 2b2 Gz.53 (B) ab2 Q&.5.3

22"
bcaLsa

(C) a’b @Qs.b3 _ (D)



57. Volume of cuboid tank measuring 3 m x 2 m x 1 m in litres is

A)  6lit. . | ®) 5lit.
E .M‘ 6000 lit. (D) 5000 lit.

318 x 2 8 x 18 wietaysdt Qanan_ serdsdious ﬁr'rﬁ; G,srn.".q.ﬁdr sansiena| L fMe?

A 6. - : | . (B) 5eL.
(©) 6000 | D) 5000 .

S8 - o . S :
. 34._. What is the volume of a cone having a base of radius 10 em and height 21 em?

200 cm?
(B) 3000 cm? .
- (©) " 5600 cm?®
(D) | 6600 cm3 i

" @ mibiddn i b 10 Qo1 wpyd 2 wth 21 Qb erafléh onidi9eir sem svarey
(&) 2200 G’ ’ |
®  3000@s8

C(© 5600 Qaf

‘D) 6600 Q5



59 | | |
116. A cjrhndrlcal Bhaped well of :flepth 30m. and d1ameter 28 m is dug. The dug r.:-ut 30]1 is evenly
- spread to form a Cuboid-platform with base dJmEIIElDIl 3{} m x 28 m, Fmd the hmght of the

plat form . _
(A) 44m .

By 33m

@, um _.
. 99 m E - | o

28 8 efllL_qpip mg;rg;lm 308 DLRAPLD 2_6TaT G Sl L@mm ﬂ.uq.aﬂau ES'IGUL_l_uu@né]mg .gra.l@.lrrg;u
Qaul (b, Gurg Goramg. sl e Egrs LFLLLLL G 30,18 x 28 A8 Siarasafié

S LILGELISS deran_. én safdsaas Guoamiwuns ﬂmmesa;uuu_rrw abGoenuler 2 wigib

wiTgy?

A 448 D |
B  3BS o | - o
© 18 |

® 226

129. "A ho]low sphere in Wthh a mrcus motorcycllt:t perfurms his stunts has an inner radms of

7 m. Fmd the area avallable to the motorcychst for rldmg (Take 7= .—-)

(A) 525 sqslm_
@f’* 616sqm
(©  Tl4sqm

(D) 728 sq.m

_. 7 1_5 o Gr %g@pmm (1 p_areﬁ"ugjm Ga&rrﬁtrgﬁ%@]m 2 LL{[DLDITBS P SiEesey eﬁ;rrr GLorn_;_,rrrr mssdafid
&nEELD Gl&u_l&lmrrrr DB &S sﬁl;rrr SFHSELD G]&Lutuaa é?cm..gé!@m &ma?l_mg&, (Ea;rrmgaﬁﬁm m_ug)uu;ruu

22
\ _u.urgj'? (:r——_!— smma)

(A 32588
(B) 616__5.:5,_:
© Tl4si8

@) 728 &8
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126. Find the total volume of 14 cubes whose edges are 12 ¢m, 13 ¢m,.....,25 cm respectively

(A) 621019 cm?
® 269101 cm®

(© 962101 cm®

Vm( 101269 cm® -

12 Qg.b, 13 QELIS,..t.. 25 Qe.b %é]u.lm;nmm (y:-smm@u.l -y alarmamrrss @mrm_ 14 pre

- sgisaficn thrg;g; e DloTenud; sneds,
4) 621019 sGsiE.
®) "269.10'1 5058,
(©) 962101 5.Qs8.
' (D) 101269 E.QG.I.ﬁj..

- 62 _ . _ o - _
178. Three solid cubes of sides 1 cm, 6 cm and 8 cm are melted te form a new gube. F_md the total

‘surface area of the cube so formed?
A) 384 cem® T ® 46’
\)V 486 {:m2 - '_ (D) 430 cm?
1 Q&5 6 G& B wpmib 8 Qa8 LsskiEmar e LW @ﬁrg &6 Eg,mmmm e m&E G0 q@u.l &en 6g,n;r|.n
QEigTe, SiHer QoSS LD UFLILIETEY Teme?
(A) © 384 cm® | | - (B) 456 em?

© 486em® ‘ S @ 430em?
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64
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172. The ratics of the respective heights and the respective radii of two cylinders are 1:2 and 2:1

respectively. Then their respective volumes arer-the ratio

(A) 4:1
@ 1:4
\ﬂ,/z:l

D 1:2

Bram( L@ﬂ)ﬂ‘l‘&ﬁlﬂﬂﬂ o_u;rmsaﬂm eﬁ}ﬂgm 1:2 wppw a;almgﬁlm < rbasafier ailfigin, 2:1 erefled,
Sleuplen ses armmd;aﬂm aﬂaﬂgw

(A) 4:1
(B) -1:4
€ 2:1
®) 1:2 . o
66 |
67 : . . 1 ' ¢

' 78.  The ratios of the respective heights and the respective radii of two cylinders are 1: 2 and
- 21 1 respectively. Then their respective volumes are in the ratio

(A  4:1 ' B) 1:4
2:1 D) 1:2

Qrar(h o (meversellar swipmisar WapGu 1 1 2 wHmib eupdlen é;-bIJTEJ&EGTT (y)mg)@tu 2 : 1 erenp
adfgrsaier @apLilen éurau,m;{)]m &HET aerrma;m‘ﬂm e &lF1b '

Ay 4:1 : B) 1:4
© 2:1 : D) 1:2
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40.  The ratio of the radii of two cyhnders 18 2 : 3 and the ratio of their hexghts 18 5 : 3. The ratm
of thelr volume will be '

A 4:9 | - B) 9:4

ﬂ’zo:z*z | B - D) 27:20

o a.qgmmu&]m rhsafier cfgn 2 : 3 LD,l]Jg]iI.D .geumf)lw a.wmmsaﬂeur fd&zb 5: 3 creflen oige

sarsieraysofion effgb
() 4:9 B 9:4
(C) 20:27 o ‘ D) 27:20
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179.

73
32.

Find the volume of a cuboid whose dimensions are given by 11 m, 10 m and 7 m
(&)  800m?® | &’ 770m’

(©) 740m® (D) 710m°®

-11 1B, 1048, 7 18 syenajeten sans QocdicusSElaT SaT DiaTaLE STHTE
(A 8008 | "B 7708
© 1408 @ 7108

If the radius of one sphere is half of the radius of another sphere, then the ratio of their

volumes is

A 8:1 - . , - (B 1:9 | f

”1.8 ‘ . . ’ (D) 1".7 e

20 (Easrrsuu‘rg@afr < TLOTEHE| melg)rr@ (B&rrewrgé]sn‘r <2 TESl0 Lrdl créfley a[eumﬁsﬁr e amma;srﬂc—m '
aﬁ]ﬁgw

Ay 8:1 - _ { ® 1:9
© 1:8 - © 1:7



- 134? -Ifthe radius of a sphere is lm]fofthe :radlun ﬂfanntharsphere then the:lr msp&ctwe

volumes are m the ratio is

A) 1:2
B 2:1
W 18

o 8:1

) G-mur,s,ﬂar LTINS, mgb@mtr@ GarergHen mﬁﬁm urd crafid aimﬂ:uﬂeh &en emeyseficn

'amagmma?
@ 1:2
(ﬁ) 2:1
© 1:8
® 8:1

e
> - ' | ' | 10 ., .
58. A rectangular piece of paper has length 147 ¢m and breadth —cm. A cylinder is formed by

~ one rolling of tile' paper along its letig’th. Then volume of the cylinder is
(A)  980cc | - B 1960cc

© 1400cc A 490 cc

@ Qsdiais g 5rra'ﬂsur ﬁan.n 14z Qs 15 a[mm — Gs 1 ﬁll‘ﬂl‘n’ﬂﬂgl jSa‘r,s,ﬂm m@(‘:u.l 9@5 qpeam |
&@L_I_J.I.I.I@Q.Iﬁm P Q5 2 heneT G_@Q.III'MULII_LJT@ aiam_@maruﬂw sen ammq wImgi? .
(A) 980 5.Qs.8 | . (B 1960&Qs.8 SR
© 1400 5Qs.8 | . (D) 490sGs8
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137.

A
18.

As air is pumped into a spherical balloon the radius increases from 6 cm to 12 em. The ratic
between velume of the balloon in the beginning and the end is

M 1:8

B) 2:7
() 8:1
(D) 2:3

6 Qg5 gy Asrawm. Carer sugeu ugrafle srpy GegiFsiL@D Curgl, isar @b 12 As.8 s
Sifafladpg. grou fleedigin, @nd feuligio ugraiar sar saraysaflan lldgb wrg?
(A) 1:8

® 2:7
(© 8:1
M 2:3

The radius and height of cylinder and cone are equal. If the volume of cylinder is 120 cm?,
then the volume of cone is ’

(A) 90 cm3 g/ 40 cm? (C) 30 cm?® (D) 100 cm?

G Fiby LHMID 2 menerden e e Wrepb cpepGu Fob. 2_menearullen Ser Bjemey 120 Qs.5".
crafled gnlblSlen Hem jeray
(A)  90Qs.f° (B) 40Gs.8° (C) 30Qs8’ (D) 100 Qe85

7 TGSNMA

The radii of two cones are in the ratio 2 :-1 their volumes are equal. Find the ratio of their

heights
A 1:8 {1:4 (Y 2:1 D) 4:1

BT BieTaySEET FLoLOMSE 2 arer Qrawr® smbysefllar g rhsaflar edgb 2 : 1 eunflan e wriisaisr
el g

(A) 1:8 B) 1:4 O 2:1 D 4:1
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114. The total surface area of a cube is 384 ¢cm?, then its volume is

(&) - 521 cm? BT 512 cm?

(C) 412cm?3 ' (D) 421 crr'x3

@@ san sgrsHen Qwrss ynurliy 384 Q.52 eraflé é{gﬁiﬂ EHET SiETE

(A) 521Qs.88 (B) 512 @s.5%
80
38, The cucumference of the haae ofa 12 cm. lugh wooden solid cone is 44 cm Find l;he volume
(A) 606cm® . o S '(B}__' GIOcm S - e o
© elem® | . /;D)/ 616cm®
| mqg,ﬂarmmrrm ® ﬁamqai auml_‘i]su S s sppere 44 Glenﬁ Ln;ngym alg,m s..u.ujm 12 GJEFLB crsnﬂm
_ agﬁmm sDSG Sat TS SIS, . _ ~
(A) 606Q@s8. . ® .610 Qmﬁ’.' |
© 614Qs8. . . . . (D) 616GsS.

- 81 .
163. The length, breadth and height of a room are respectively 12 metres, 9 metres and 6 metres.
-How many cubic boxes are needed to fill the room if the side p.faach box is 1.5 metres?

@A) 1072
(B) = 648
© 324

.Jﬂ 192

T ampﬂmﬁm DiEaHD Lnﬁlml.i: n.u_np.b Epﬁnp@m 12 Lﬂl._l_n 9 B whmb 6 Bt 1.5 B
- femb Gamen rrgﬁm &ené sEITL Clu g semrd @S sienphenil apupanswIns ﬂuuumm.‘n?

(A} 1072
(B) - 648
© .. 324

m . 192



